1			Go	vernn	ent	of Chhat	tisga	rh				
Proposal No :	N/6/1539/3/10/99608							7			al Date :	-
				8		A C				Academ	nic Year :	2016 - 17
Institute :	Govt. Girls College Da	antewada		5			<u>2</u>			Proposa	al Type :	Fresh
Scheme :	Post Matric OBC Sch	olarship			and the second second second		Tuition	Other	Total	Total		Bank Details
S.No. App. ID Student	Name	Gender /Category	Hostel / Annual	Months	Rate	Maintenence Allowance	Fee	Fee	Fee	Scholarship	SE CAR	
the second second		and the same	Income	1			and the second		Ser.	and the second	Constant.	(mithab
Course : B. Sc./Science	/Ĭ	- A BAR	2.6/60000	9	70	630	0	1517	1517	2147	STATE BANK	OF ELI/20308798693
1 1294866 MANJU	HAKUR	Female/OBC	DS/60000	,	,			1517	1517	2147	110270/10/10	
		Т	OTALS :			630		1517	151/	2147		

Place: Dantewada Date : 28/12/2016

Certified that this institution is affiliated to <u>BWU</u> Jagan Burginiversity/Board and is recognized by the Government of India/State Government of <u>BWU</u> Jagan Burginiversity/Board and is recognized by the Government of India/State Government of <u>BWU</u> Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular the students in their applications are verified & round correct. In case the applicant leaves institution of other wise discontinues the students is detected. (Signature & Seal of Head of the Institution) Name (Capital Leters): A. Meyred A.Li This Proposal is generated by Scholarshin Portal Brinked and 2019 Compose OV Mane Brinked and 2019 Compose A VIE WADA (South Bastar) C.G.

MIC

ľ.,					Go	vernn	nent	of Chhai	ttisga	rh				
	Proposal No : R/6/1539/3/10/99635 Institute : Govt. Girls College Dantewada Scheme : Post Matric OBC Scholarship							AF			Proposal Date : - Academic Year : 2016 - 17 Proposal Type : Renewal			
S.No.	App. ID			Gender /Category	Hostel / Annual Income	Months	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Scholarship	Bank Details	
Course	e : B. Sc.,	Science/	/111		Constanting of the		05	765	0	1467	1467	2232	STATE BANK OF	
1	1295080	BHAVAN	THAKUR	Female/OBC	DS/84000	9	85	705	Ū				INDIA/GEEDAM/000031819137389	
2	795352	PRIYA J	AISWAL	Female/OBC	DS/100000	9	85	765	0	1467	1467	2232	STATE BANK OF INDIA/DANTEWARA/000020073549	
_				т	OTALS :			1530		2934	2934	4464		

Certified that this institution is affiliated to RVV. Jagdalam, University/Board and is recognized by the Government of India/State Government of ... C.G. Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. (Signature & Seal of Head of the Institution)

Place: Dantewades

Date : 28/12/2016

This Proposal is generated by Scholarship Portal, Printed on 2/28/2016 Government of the Scholarship Portal Printed on 2/28/2016 DANTEWADA (South Bastar) C.G

Name (Capital Leters) : Poo. Majid Ali

		Go	vernn	nent	of Chha	ttisga	rh					
Proposal No : N/6/1539/1/9/984 Institute : Govt. Girls Collec				D R	R A F					sal Date : nic Year :	- 2016 - 17	
Scheme : Post Matric SC S	cholomhin		9	1 11	1 MA 2	39			Propos	Proposal Type : Fresh		
No. App. ID Student Name	Gender /Category	Hostel / Annual Income	Months	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Scholarship		Bank Details	
Course : B. A./Arts/I			9	300	2700	0	1502	1502	4202	STATE BA	NK OF	
1 817060 PUJA NETAM	Female/SC	DS/40000	9	300			4500	1502			ARAMA/35066401702 NK OF INDIA/COLLECTORA	
2 677028 KUMARI SHWETA	Female/SC	DS/40000	10	300	3000	0	1502	1502	4302	DANTEWA	RA/000036049339462	
Course : B. Sc./Science/I		A CANANA A		300	3000	0	1517	1517	4517	STATE BAN	K OF INDIA/SUPELA	
3 1061967 MAMTA NO NAME	Female/SC	DS/36000	10	300	5000					(BHILAI)/3 STATE BAN	4954808249	
4 1295069 NAMRATA GENDRE	A 1205050 NAMPATA GENDRE Female/SC		9	570	5130	0	1517	1517	6647	INDIA/NAI	MED/31938982989	
4 1233003 INCIDENTIA OLIVITA	-	OTALS :			13830		6038	6038	19868			

Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular the students in their applications are the second at the authority for eventual discontinuance of scholarship/stipend from the period it is detected. (Signature & Seal of Head of the Institution)

Place: Dantewady

Date : 28/12/2016

(Signature & Seal of Head of the Institution) Name (Capital Leters) : Bo, Myid Ali This Proposal is generated by Scholarship Portal Printed on 12/08/Ciflege Govt. Mabernatic Rayles (South Bastar) C.G

MIC

			Go	vernm	ent	of Chhat	tisgai	rh					
Proposal No : R/6/1539/2/7/98030 Institute : Govt. Girls College Dantewada Scheme : Post Matric ST Scholarship									Proposal Date : - Academic Year : 2016 - 17 Proposal Type : Renewal				
o. App. ID Student	to de las companya de las companya de las companyas de las companyas de las companyas de las companyas de las c	Gender /Category	Hostel / Annual Income	Months	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Scholarship	Bank Details		
urse : B. A./Arts/II	Marian -	An Course	110/50000	9	570	5130	0	1367	1367	6497	DENA		
1 1217126 MANE S	HWARI	Female/ST	HS/50000	9	570						BANK/DANTEWADA/194010033097 STATE BANK OF		
2 636838 RANJIT	а нарка	Female/ST	DS/45000	9	300	2700	0	1452	1452	4152	INDIA/AWAPALLI/33427971418		
3 712938 manjula	kadati	Female/ST	HS/60000	9	570	5130	0	1452	1452		STATE BANK OF INDIA/DANTEWARA/35176125599		
4 897226 PREETI		Female/ST	DS/40000	7	300	2100	0	1452	1452	3552	STATE BANK OF INDIA/GEEDAM/35195815079		
		Female/ST	HS/120000	9	570	5130	0	1452	1452	6582	CENTRAL BANK OF INDIA/DANTEWADA/3570645540		
5 1260001 SUNITA		Female/ST	HS/28000	9	570	5130	0	1452	1452	6582	STATE BANK OF INDIA/KONTA/31949647018		
6 528070 Sangitz			HS/50000	9	570	5130	0	1452	1452		STATE BANK OF INDIA/DANTEWARA/34096237481		
7 709061 reetu	ohavani	Female/ST	13/30000				0	1452	1452	6582	STATE BANK OF		
8 750397 Kumari	Esha Nag	Female/ST	HS/50000	9	570	5130	U	1452	1752		INDIA/DANTEWARA/35176125226		
9 1096530 SUNIT		Female/ST	HS/50000	9	570	5130	0	1452	1452	6582	STATE BANK OF INDIA/DANTEWARA/32200779422		

Certified that this institution is affiliated to <u>RVV</u>. <u>Tagaalpanu</u>niversity/Board and is recognized by the Government of India/State Government of <u>C.G.</u> Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular the students in their applications are verified a found correct in case the applicant correct and associated as the application of scholarship/stipend from the period it is detected. 16 (Signature & Seal of Head of the Institution)

Place: Dantewady Date : 28/12/2016

NIC

					Go	vernm	ent	of Chhat	ttisga	rh				
	Proposal No : R/6/1539/2/7/98030 Institute : Govt. Girls College Dantewada Scheme : Post Matric ST Scholarship							AF			Proposal Date : - Academic Year : 2016 - 17 Proposal Type : Renewal			
No. A	Sch App. ID			Gender /Category	Hostel / Annual Income	Months	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Scholarship	the second second second	lank Details
and the second second	: B. A./	A Statistics		Female/ST	HS/49000	9	570	5130	0	1452	1452	6582	STATE BANK ()F NARA/32531781673
10	200200			Female/ST	HS/50000	9	570	5130	0	1452	1452	6582	STATE BANK C JAGDALPUR/34	F INDIA/ADB,
11				Female/ST	HS/45000	9	570	5130	0	1452	1452	6582	STATE BANK C	of Vara/0000325283984
12	155283			Female/ST	DS/70000	9	300	2700	0	1452	1452	4152	STATE BANK C	F 32554989302
13	811524			T Childrey - 1			and the second	the state	and the	00.00	1467	6507	STATE BANK C	F
	e : B. Sc. 610796		i Telam	Female/ST	HS/50000	9	570	5130	0	1467	1467		INDIA/BLIAPPL	JR/31916724344
15	958168	1		Female/ST	HS/27000	9	570	5130	0	1467	1467		INDIA/DANTE	VARA/34210750167
	641559			Female/ST	HS/50000	9	570	5130	0	1467	1467			JR/31916651840
16	641559	MANGU	/ 3001	T	OTALS :			74190		23192	23192	97382		

Certified that this institution is affiliated to <u>RVV</u>. <u>To get for W</u>niversity/Board and is recognized by the Government of India/State Government of <u>C. C.</u> Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by Attested copy of the same is attached to include connection of competent autions, cause institution or otherwise discontinues the studies or accepts any other regular the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected,

(Signature & Seal of Head of the Institution). Name (Capital Leters) : By Maria Au This Proposal is generated by Scholanship Portal Printed on 1978/2018-99 DANTE WADA (South Bastar) C.G.

Place: Danteworda Date : 28/12/2016

NIC

					Go	vernm	ent	of Chhat	tisga	rh				
	Proposal No : N/6/1539/2/7/98403 Institute : Govt. Girls College Dantewada Scheme : Post Matric ST Scholarship			The stands		AF				Academ	al Date : nic Year : al Type :	- 2016 - 17 Fresh		
	App. ID		Name	Gender /Category	Hostel / Annual Income	Months	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Scholarship		Bank Details
ourse	: B. A.//	Arts/I -	and in the	and the start of	Barris Con	B. C. B.					- 19 B			
1	743643	Karina n	io surname	Female/ST	HS/50000	9	570	5130	0	1502	1502	6632	STATE BAN	IK OF ULNAR/35123724902
2	542429	AMRITA	KUHRAMI	Female/ST	HS/50000	9	570	5130	0	1502	1502	6632	STATE BAN	IK OF IRAMGARH/32473440275
3			I NO SURNAME	Female/ST	HS/30000	9	570	5130	0	1502	1502	6632	STATE BAN	IK OF ITEWARA/32556422592
4			A NOSURNAME	Female/ST	DS/50000	9	300	2700	0	1502	1502	4202	STATE BAN	IK OF HELI/34130195464
5			TELAMI	Female/ST	HS/55000	9	570	5130	0	1502	1502	6632	STATE BAN	IK OF IRAMGARH/32504842541
6			PINNAPALLI	Female/ST	DS/40000	9	300	2700	0	1502	1502	4202	STATE BAN	IK OF PALPATNAM/32593795571
			MANDAVI	Female/ST	HS/60000	9	570	5130	0	1502	1502	6632	STATE BAN	IK OF MA/35912765932
8			WACHAM	Female/ST	HS/75000	9	570	5130	0	1502	1502	6632	STATE BAN	IK OF MED/34966515396
9		ANITA (Female/ST	DS/40000	9	300	2700	0	1502	1502	4202	STATE BAN	IK OF APALLI/31929620883
10		SUNITA		Female/ST	DS/45000	10	300	3000	0	1502	1502	4502	STATE BAN	and the second s
11		MANISH		Female/ST	HS/60000	9	570	5130	0	1472	1472	6602	STATE BAN	IK OF INDIA/COLLECTORA RA/35951554367
12		KAMLI	A SARIYAM	Female/ST	HS/35000	10	570	5700	0	1502	1502	7202	STATE BAN	
13	900204	NAMIL	NETAM	Female/ST	DS/60000	9	300	2700	0	1502	1502	4202	STATE BAN	

Declaration :

Certified that this institution is affiliated to <u>RVV</u>. <u>Tag that</u> <u>Puv</u>University/Board and is recognized by the Government of Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are study the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise disc scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship

Place: Dantewada Date: 28/2/2016

NIC

Page 1/4

Government of <u>C. C.</u> ution. The information furnished by lies or accepts any other regular period it is detected.

e (Capital Leters): Pro. Mail Ali

erated by Scholarship Portal. Printe

MDANTE

1	Proposal Instil	ute : Govt. Girls	College Dantewada				AF				Acader	al Date : nic Year :	- 2016 - 17
. A	Sche pp. ID S	me : Post Matric itudent Name	ST Scholarship Gender /Category	Hostel / Annual Income	Months	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Scholarship	al Type :	Fresh Bank Details
14 1	260456	BHUNESHWARI MAR	RKAM Female/ST	DS/45000	9	300	2700	0	1502	1502	4202	STATE BANK INDIA/GEEDA	OF M/32567560517
15	351343	ANJALI BHASKAR	Female/ST	DS/65000	9	300	2700	0	1502	1502	4202	STATE BANK	OF INDIA/COLLECTORA 36022016248
16	666454	Shalini Salvam	Female/ST	HS/40000	10	570	5700	0	1502	1502	7202	STATE BANK	DF /36059928604
17	733106	manisha No Suman	ne Female/ST	DS/33000	9	300	2700	0	1502	1502	4202	STATE BANK	OF INDIA/COLLECTORAT 36014306108
18	743589	Sinky no surname	Female/ST	DS/65000	9	300	2700	0	1502	1502	4202	STATE BANK	DF NAR/35983597836
19	780402	LALITA SORI	Female/ST	DS/45000	9	300	2700	0	1502	1502	4202	STATE BANK	DF NAR/33226152556
20	928230	SEETA NOSURNAM	E Female/ST	HS/45000	9	570	5130	0	1502	1502	6632	STATE BANK	DF M/35963787480
21	948634	LALITA RAWTE	Female/ST	HS/45000	9	570	5130	0	1502	1502	6632	STATE BANK	OF NAR/35892082625
22	964552	Sarojni Sodi	Female/ST	HS/40000	9	570	5130	0	1502	1502	6632	STATE BANK	OF /35968914685
		VANJAM LAXMI	Female/ST	HS/45000	9	570	5130	0	1502	1502	6632	CENTRAL BAN	Ik of Wada/3947036393
		SONIYA NO SURNA		DS/40000	9	300	2700	0	1502	1502	4202	STATE BANK	
		SUNITA NO SURNA	ME Female/ST	HS/80000	9	570	5130	0	1502	1502	6632	STATE BANK	
Jour	se : B. So	/Science/I							a harden			No. of the other o	10455555556102

Declaration :

Certified that this institution is affiliated to. RUV. Tagelalputniversity/Board and is recognized by the Government of India/State Government of ... Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by C.G. the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Dantewada Date : 28/12/2016

Page 2/4

NIC

Proposal No : N/6/1539/2/7/98403 Institute : Govt. Girls College Dantewada Scheme : Post Matric ST Scholarship							AF				Proposal Date : - Academic Year : 2016 - 17 Proposal Type : Fresh			
0. 1	App. ID	Student Name	Gender /Category	Hostel / Annual Income	Months	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Tota Scholarshi			
27	1017235	KUSHMA ATRAM	Female/ST	HS/35000	9	570	5130	0	1517	1517	6647	7 STATE BANK OF INDIA/NAIMED/34241434838		
28	743783	Priyanka no surname	Female/ST	HS/60000	10	570	5700	0	1517	1517	7217	STATE BANK OF INDIA/BACHELI/35950468637		
29	947903	SONMATI NO SURNAME	Female/ST	DS/50000	9	300	2700	0	1517	1517	4217	STATE BANK OF INDIA/NAKULNAR/31859341738		
30	984553	Sushila Kashyap	Female/ST	HS/40000	9	570	5130	0	1517	1517		STATE BANK OF INDIA/SUKMA/20280420661		
31	1074801	SANGEETA MANDAVI	Female/ST	HS/80000	9	570	5130	0	1517	1517	6647	STATE BANK OF INDIA/COLLECTORAT DANTEWARA/36071500301		
32	1260306	KIRAN NETAM	Female/ST	DS/45000	9	300	2700	0	1517	1517	4217	STATE BANK OF INDIA/DANTEWARA/33144242432		
33	301447	DEEPIKA MANDAVI	Female/ST	HS/30000	9	570	5130	0	1517	1517		STATE BANK OF INDIA/KANKER/32579937300		
34	743767	Manika Sori	Female/ST	DS/45000	9	300	2700	0	1517	1517	4217	STATE BANK OF INDIA/COLLECTORAT DANTEWARA/35994056349		
35		SUNITA KARMA	Female/ST	HS/40000	9	570	5130	0	1517	1517	1	STATE BANK OF INDIA/TOKAPAL/35198808079		
		Kavita Dudhi	Female/ST	HS/40000	9	570	5130	0	1517	1517	1	STATE BANK OF NDIA/SUKMA/36063914313		
36		JAMUNA PODIYAM	Female/ST	HS/40000	9	570	5130	0	1517	1517	1	STATE BANK OF NDIA/SUKMA/33364565190		
37				HS/65000	9	570	5130	0	1517	1517	6647 9	STATE BANK OF NDIA/GEEDAM/35173887914		
38	988956	AASMATI KAHSYAP	r criticitey e r	HS/50000	9	570	5130	0	1517	1517	6647	STATE BANK OF NDIA/BHAIRAMGARH/32448057575		

Attested copy of the same is attached for factual verification of competent authority. Above(no) applicants are studying in this institution. The information furnished by the students in their applications are verified & found correct. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. (Signature & Seal of Head of the Institution) Name (Capital Leters) : Pro. Majid Ale

Place: Danteronda Date: 28/12/2016

Page 3/4

This Proposal is generated by Scholarship Portal Printed on 1228 TEWADA (South Bastar) C.G

N

NIC

			Go	vernm	ent d	of Chhat	tisgar	'n			
Proposal No : N/6/1539/2/7/98403					1 12	n r		7			sal Date : - nic Year : 2016 - 17
Scheme :	Post Matric ST Scho			10	剧 新聞	滑机 是				Propos	al Type : Fresh
S.No. App. ID Studen		Gender /Category	Hostel / Annual Income	Months	Rate N	Maintenence Allowance	Tuition Fee	Other Fee	and the second	Total Scholarship	the state of the state of the state of the
40 1186662 JIPTI	GAWDE	Female/ST	DS/45000	9	300	2700	0	1517	1517	4217	STATE BANK OF INDIA/DANTEWARA/35321662202
		Female/ST	HS/55000	9	570	5130	0	1517	1517		STATE BANK OF INDIA/BLIAPPUR/33990460895
		HS/45000	9	570	5130	ο.	1517	1517	6647	STATE BANK OF INDIA/COLLECTORAT DANTEWARA/20287876004	
42 1281907 JAYA	BHASKAR		OTALS :			181020		63309	63309	244329	

Declaration : Certified that this institution is affiliated to <u>RVV Taydadaw</u> University/Board and Attested copy of the same is attached for factual verification of competent authority. A the students in their applications are verified & found correct. In case the applicant lea scholarship/stipend the fact will be immediately reported to the authority for eventual	(Signature & Seal of Head of the Institution), (Signature & Seal of Head of the Institution), upper (Capital Leters): Part, movid Alle
Place : Danteworda Date : 28/12/2016 Page 4/4	Name (Capital Lett) 1: 70 <u>Print Holds</u> This Proposal is generated by Scholgeship Partal Printed on 12 Bing Contege DANTE WADA (South Bastar) C.G